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QUESTION 1

Based on the information shown in the exhibit, how many IP addresses has the PGW allocated in total for all UES?

L:PGUWE show mobile-gateway pdn bearer-context

Bearer context

INSI APN Bearer Type QCI/ARP MBR/GBR SDFs
302720123456791 ipd.alcatel 5 Def 8/12 = ]
302720123456791 ipd.alcatel 1 Ded 272 30000/20000 1
302720123456790 ipd.alcatel S Def 9/12 = o
6 1
5 (z}
6 1

302720123456790 ipd.alcatel Ded 373 30000/20000
3027201234567859 ipd.alcatel Def 9/12 -
302720123456769 ipd.alcatel Ded 4/4 30000/20000

B.5
C.4
D.3
E.2
F. 1

Correct Answer: D

QUESTION 2

On Alcatel-Lucent 7750 PGW, which of the following CLI commands can be used to debug a given IMSI?
A. debug mobile-gateway pdn 1 pdn-session imsi 226041000000008

B. debug mobile-gateway pdn 1 pdn-session-db imsi 226041000000008

C. debug mobile-gateway pdn 1 pdn-session imsi 226041000000008 apn ipd.alcatel-lucent.com

D. debug mobile-gateway pdn 1 pdn-session-db imsi 226041000000008 apn ipd.alcatel-lucent.com

E. Answers A and C are both correct.

F. Answers B and D are both correct.

Correct Answer: C

QUESTION 3
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Which of the following most accurately identifies a GTP tunnel on the Alcatel-Lucent 7750 MG by default?
A. ATEID

B. The System IP address

C. A UDP port number

D. A TEID and the System IP address

E. A TEID, the System IP address and a UDP port number

Correct Answer: E

QUESTION 4

Based on the information shown in the exhibit, when the SGW receives an IP packet from the UE, which of the following
is the GTP TEID value expected to be received in the GTP packet header?

A:1SGUE show mobhile-gatevay serving bearer-context imsi 302720123456789 decail

T - T 8~ - - - - S S O B S m s 8 - e

EBearer concext detail

B e e e e e e e e e e S e e e e e e — =~ - e S

IMSI 1 3027201234567689

APN 1 ipd.alcatel-lucent.com

Eearer Id : 5 Hearer type i Defaulc
Up Time : Od D0:02:07

QCI/ARP i 9512

QoS UL MBR : 0 Fhps gaS DL MER : 0 Kbop=
QoS UL GER : 0 Kbps QoS DL GBR : D Kbpa

25 POW Daca TEID : OxdD5025 35 3GW Data TEID : Ox4b0O080S
S5 PGW Daca addr : 10.10.7.2

85 SGW Daca addr : 10.10.7.1

310 eNocdeB TEID : Ox21 310 3GW TEID : Ox4bO0O0825

31U eNodeB addr
31U 3GW mddresas

[

10.10.2.100
T2.22.249.163

a4

35 UL packets : 404532 S5 UL hiytes : 21906876
217 DL packets : 404514 210 DL bytes : 579961815
211 0oS Modify : O

Nurber of bearer contexts : 1

A. 0xd05025
B. 0x4b00805
C. 0x21

D. 0x4b00825

E. None of the above answers are correct.
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Correct Answer: D

QUESTION 5

A UE is sending best-effort (BE) IP traffic to a PDN server over the EPC core. Based on the information shown in the

exhibit, what is the DSCP value of traffic egressing the SGi interface of the PGW to the PDN server?

*A:PCH>configenobiled info
profile
diameter-paer “diam-pser-1"
application-type o
destination-realn "lucent.com™
dismecer-profile "dsfaule”
interface "int-gx”
peer 10.10.5.2 port 3868
ng shutdowm
exit
exit
policy-options
gei-policy "dl-gei-pl”
gei 9 oarp 12
dscp ef
no dscp-preserve
BE - el
profile in
exit
BXit
gei-policy "ul-gei-pl”
gol 9 oarp 12
dscp afzl
no dscp-preserve
profile out
eNlT
it
exitc
Bxit
pdn L
apn "ipd, aleatel-lucent.comn™
perf-selection
dynanic-pcc
exitc
ip-a.loc-method local-pool
pdn-type ipvd
pdn-type ipvé
pdn-type ipvdve
router "Base”
ip-local-pool "ipdpool™
BEXit
gelection-mode subacribed-apn
no shucdown
exit

=Output contimueed in the right window:-

eMod 5 Pg
Dxl':;E oE " Evolved Packet
Core

sigmaling
diameter
origin-hoat "diam.ocigPealm.con"
origin-realm "origRealn.com’™
profile "dafault”
exit
interface "syactea”
exic
Epi-kei
ExXit

perf-selsction

primary-dismeter-pesr "diam-peer-17

exit
EX1T
=5
interface
gtp=t "int=s5"
gtp-u "int-g5"
EX1E
exic
no shutdowm
exit
sysLEn
group 1 redundancy one-to-one gateway 1
card 2 working
exic
exit

A.BE

B. EF

C. AF21

D.NC

E. None of the above answers are correct.

Correct Answer: A
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